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QUESTION 1

Following the repair of a failed Enterprise Vault server, the administrator fails the services back to the primary server.
The administrator notices it takes a minimum of 15 minutes for the desktop clients to reconnect. 

What could explain the delay in clients connecting to the server? 

A. the Active Directory integrated DNS zone will take 15 minutes to replicate 

B. the server DNS cache refreshes after 15 minutes 

C. the desktop client DNS cache refreshes after 15 minutes 

D. the Active Directory integrated DNS zone replication can be delayed by up to 15 minutes 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

When is this policy setting required? 

A. when Enterprise Vault shortcuts are required in OWA 2007 or 2010 

B. when EV Search is required in OWA 2007 or 2010 

C. when the Restore function is required in OWA 2007 or 2010 

D. when the Archive function is required in OWA 2007 or 2010 

Correct Answer: B 

 

QUESTION 3

Which two types and configurations of clustering can be used with Symantec Enterprise Vault 11.x for Exchange?
(Select two.) 

A. Veritas Cluster Server in an active/active and N+1 configuration 
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B. Veritas Cluster Server in an active/passive and N+1 configuration 

C. Windows Server Failover and Veritas Cluster Server in a mixed mode 

D. Windows Server Failover in an active/active and N+1 configuration 

E. Windows Server Failover in an active/passive and N+1 configuration 

Correct Answer: BE 

 

QUESTION 4

A customer requires different retention categories for items in users\\' mailbox folders. 

Which two options could an administrator use to assign different retention categories to items in the specified folders?
(Select two.) 

A. Enterprise Vault Archive settings 

B. Exchange Mailbox policy 

C. Exchange Managed folders 

D. Enterprise Vault Policy Manager 

E. Enterprise Vault Desktop policy 

Correct Answer: CD 

 

QUESTION 5

Which two reports require monitoring to be enabled? (Select two.) 

A. Enterprise Vault Server Task Health Status 

B. Enterprise Vault Server Seven Day Health Status 

C. Exchange Server Journal Mailbox Archiving Health 

D. Archive Item Access 

E. Archive item Access Trends 

Correct Answer: BC 
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